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5055 ksl 8.16 50 B [HX 5056H SHXIX}; 2+ Al 3
5054 Ol X 8.16 30 M3 [H& 5053H SHXIX}; 2 Hdl =
5053 Ol xHH 8.16 30 M= St XA B Hdl =
5052 Ol X 8.16 20 Sy SSIXAL S Al &
5051 01 XHH 8.16 20 M= St XA B Hdl =
5050 OlxHEH 8.16 20 M3 SHStXAL Adl =
5049 Ol xHH 8.16 30 M3 St XA B Hdl =
5048 OlxHEH 8.16 10 e [H& 4321H SHXIT; 24 Adl =
5047 Ol xHH 8.16 20 == [HH 5031 &I Xt 2+ Hdl =
5046 Ol xHEH 8.16 20 M3 [H& 5014H SHXIX}; 24 Adl &
5045 il 8.16 30 = [HH 5006H &4EI Xt 2+ Hdl =
5044 Ol xHEH 8.16 20 M3 SSIXAL S E2RIIES
5043 bl 8.16 | H30ts M3 [H& 5041H SHXIT}; 2+ Hdl =
5042 O e 8. 16 30 M3 [H& 5003 SHXIX}; & A =
5041 ifplsl 8.16 30 M3 HStXAL B Hdl =
5040 bkl 8.16 60 7 [H& 5003H SHXIX}; & Al =
5039 bl 8.16 60 = HStXAL B Hdl =
5038 byl 8. 16 20 M= [H& 5014H SHXIX}; 243 Al 3
5037 Ol X 8.16 60 Sy [HH 4482H XXt 2t Al =
5036 01 xHH 8.16 40 Y37 MZE XX 2 Al =
5035 Ol xHEH 8.16 30 =4 SHStXAL B Al =
5034 Ol xHH 8.16 20 M= [HH 5018H SHXIX}; 24 ddl =
5033 Ol xHEH 8.16 70 =3 [HH 5001 XXt 2+ Hel &
5032 01 xHH 8.16 20 M= St XA B Adl =
5031 Ol xHH 8.15 30 = 4| 8 =T} 2 Adl =
5030 Ol xHH 8.15 40 832 [HX 4858H SHXIT} 2+ Hdl =
5029 OlxHEH 8.15 10 (SPS [HH 4980 =HXITt 2+ Al =
5028 bl 8.15 40 Y3 [HH 4447H X} 24+ Al =
5027 OlxHEH 8.15 60 E SSIXAL S Adl &



0206 OTXHET 8. 15 10 =g & 46055 SFETAF & Ad =S
nE | mws | mmy egn HEEANCH SES= S
5025 | DI | 8.15 5 det [HE 48408 SHEIT} 2k EZEIE
5024 | O | 8.15 | 30 oK ISHEA B Hal 5
5023 O] fHe 8. 15 40 =32 & 4917H = XX} 2+ Adl =
5022 | O 8.15 | 30 M7 L4 4926w ST B Hal 5
5021 Ol xHH 8. 15 40 N3 HASIX AL S Al 3
5020 Ol xHEH 8.15 20 = STV RIS
5019 Ol 8.15 50 B [H&X 5012H = XX} 2 Al 3
5018 | O | 8.15 | 20 M7 4 50078 ST ma 23l 5
5017 | O | 8.15 | 30 9N | [HE 4983M HIIT B 23l 5
5016 Ol 8. 15 50 =4 St XA = Adl =
5015 | O | 8.15 | 40 z3 ST B Hal 5
5014 Ol xHEH 8. 15 20 M3 St XA = Adl =
5013 | O | 8.15 | 30 ox7 ST B Hal 5
5012 OlxHEH 8. 15 40 M3 [H& 4980H SHXIX}; 2+& Adl =
5011 | O | 8.15 | 40 =3 ST B Hal 5
5010 O] XHH 8. 15 30 7 At AL S Al =
5000 | O | 8.15 | 20 =3 ST B Hal 5
5008 O] fHe 8. 15 50 B HASIX AL S Adl =
5007 | O | 8.15 | 20 =3 ST E Hal 5
5006 O] fHe 8. 15 50 =2 HASIX AL S Al =
5005 | O | 8.15 | 30 me oISHEA £ Hal 5
5004 [ piksl 8.15 30 4y [H&X 4969H =rXIT} 2+ Al 3
5003 | Ol | 8.15 | 50 me ISHEA B Hal 5
5002 OIxHH 8.15 20 M= [H& 5001H SHXIX}; 24 Al =
5001 | O | 8.15 | 30 VEE SISt AL & I
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